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Study the following table and answer the question:

The following table shows the number of first-language speakers (in millions) of the seven most widely spoken languages,
namely, English, Chinese, Spanish, Russian, French, Portugese and Arabic. There are 3800 known languages spoken
worldwide, 1/7 are expected to die out over the next 40 years and 72.5% are predicted to die out in the next 100 years. As a
first language, 3/7 of the world's population speaks the seven most widely spoken languages and a further 1.7 billion speak
one of the seven languages as a second language. Based on the data in the table, answer the question.

Most Widely Spoken Languages|Number of First-Language Speakers (in millions)
English 1386

Chinese 1000

Spanish 280

Russian 270

French 220

Portugese 160

Arabic 140
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3ideh 1386
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LRl 270
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How many speakers of the seven most widely spoken languages are there (spoken as either first or second language)?

1. 5.223 billion
2.5.116 billion
3. 5.156 billion
4, 5.215 billion

1)
(2)
(3)
(4)

T4l A9 €4 Y aici o gl 9id YTl & fard- addn (0ud 31 fGdig e 8 9 @is U aidl o arell Y9 82

1. 5.223 faferm
2. 5.116 fafe@q
3. 5.156 faferm=
4.5.215 fafemgq

A W N R

1)
(2)
(3)
(4)

A W N R

1[Option ID=26901] Question Description : dwbv_pg_gp20_eng_2_q1l
2[Option ID=26902]
3[Option ID=26903]
4[Option ID=26904]

Sl. No.2
QBID:20201002




Study the following table and answer the question:

The following table shows the number of first-language speakers (in millions) of the seven most widely spoken languages,
namely, English, Chinese, Spanish, Russian, French, Portugese and Arabic. There are 3800 known languages spoken
worldwide, 1/7 are expected to die out over the next 40 years and 72.5% are predicted to die out in the next 100 years. As a
first language, 3/7 of the world's population speaks the seven most widely spoken languages and a further 1.7 billion speak
one of the seven languages as a second language. Based on the data in the table, answer the question.

Most Widely Spoken Languages|Number of First-Language Speakers (in millions)
English 1386

Chinese 1000

Spanish 280

Russian 270

French 220

Portugese 160

Arabic 140
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Which suggested answer most closely represents the fraction of first-language speakers of the seven most widely spoken
languages that speak Spanish or French?

1.1/10%™
2.1/t
3. 1/6%
4, 1/5t

1)
(2)
(3)
(4)

A W N =

Fofafed o O o gefad SR waiite ads €U 3§l o arel id HIEIsi & TUH-T6] & Jadiel & 39 A &
T4l Hdedl 9§ uidFiea &l 8, Sif iH 91 Thd & dadl a7

1.1/10dl
2.1/7d
3.1/6 Gl
4.1/54df

(1)
(2)
(3)
(4)

A W N R

1[Option ID=26905] Question Description : dwbv_pg_gp20_eng_2_q2
2[Option ID=26906]
3[Option ID=26907]
4[Option ID=26908]
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Study the following table and answer the question:

The following table shows the number of first-language speakers (in millions) of the seven most widely spoken languages,
namely, English, Chinese, Spanish, Russian, French, Portugese and Arabic. There are 3800 known languages spoken
worldwide, 1/7 are expected to die out over the next 40 years and 72.5% are predicted to die out in the next 100 years. As a
first language, 3/7 of the world's population speaks the seven most widely spoken languages and a further 1.7 billion speak
one of the seven languages as a second language. Based on the data in the table, answer the question.

Most Widely Spoken Languages|Number of First-Language Speakers (in millions)
English 1386

Chinese 1000

Spanish 280

Russian 270

French 220

Portugese 160

Arabic 140
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How many speakers are there currently of the languages predicted to die out?

1. 7.6 billion
2. 5.2 billion
3. 3.8 billion
4, Cannot tell

1)
(2)
(3)
(4)

A W N R

T B aTel HIwTSTt & gadreil &1 §e aaAH § o &7

1. 7.6 faferm=
2. 5.2 fafema
3. 3.8 faferma
4. 91 Tel Hebdl

(1)
(2)
(3)
(4)

A W N R

1[Option ID=26909] Question Description : dwbv_pg_gp20_eng_2_q3
2[Option ID=26910]
3[Option ID=26911]
4[Option ID=26912]
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Study the following table and answer the question:

The following table shows the number of first-language speakers (in millions) of the seven most widely spoken languages,
namely, English, Chinese, Spanish, Russian, French, Portugese and Arabic. There are 3800 known languages spoken
worldwide, 1/7 are expected to die out over the next 40 years and 72.5% are predicted to die out in the next 100 years. As a
first language, 3/7 of the world's population speaks the seven most widely spoken languages and a further 1.7 billion speak
one of the seven languages as a second language. Based on the data in the table, answer the question.

Most Widely Spoken Languages|Number of First-Language Speakers (in millions)
English 1386

Chinese 1000

Spanish 280

Russian 270

French 220

Portugese 160

Arabic 140
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How many languages are expected to die out over the next 100 years?

1.3800
2.3455
3. 2655
4, 2755

(1) 1
(2) 2
3) 3
(4) 4

3Tl 100 NI H fabat {TuTaHl & g giF B 3120 3 718 87

1. 3,800
2.3,455
3. 2,655
4.2,755

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=26913] Question Description : dwbv_pg_gp20_eng_2_q4
2[Option ID=26914]

3[Option ID=26915]
4[Option ID=26916]
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Study the following table and answer the question:

The following table shows the number of first-language speakers (in millions) of the seven most widely spoken languages,
namely, English, Chinese, Spanish, Russian, French, Portugese and Arabic. There are 3800 known languages spoken
worldwide, 1/7 are expected to die out over the next 40 years and 72.5% are predicted to die out in the next 100 years. As a
first language, 3/7 of the world's population speaks the seven most widely spoken languages and a further 1.7 billion speak
one of the seven languages as a second language. Based on the data in the table, answer the question.

Most Widely Spoken Languages|Number of First-Language Speakers (in millions)
English 1386

Chinese 1000

Spanish 280

Russian 270

French 220

Portugese 160

Arabic 140

39 AIfAeT & STUR W U & IR SIo1e
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Which suggested answer is the closet estimate of the proportion of the world's population who speak Chinese as a first
language?

1.1in12
2.1in10
3.1in8
4.1in6

OR!
(2) 2
3) 3
(4) 4

fafaiad o 9 o9 Qaidd SR % @1 oFEEd & 39 YU & U9 A 6, ol WyH YT & ¥4 § -1 Y6 &
gadl 87

112591
2.108d1
3.8
4.67T1

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=26917] Question Description : dwbv_pg_gp20_eng_2_q5
2[Option ID=26918]

3[Option ID=26919]
4[Option ID=26920]

Sl. No.6
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A child firstly learns to differentiate between various things i.e, men, women, animals, birds and later on s/he unifies these
differentiated concepts to form a single concept called as -------—----

1. Restructuration
2. Differentiation
3. Generalisation
4. Memorisation

1) 1
() 2
(3) 3
(4) 4

U sSTas YdyuyH fafdy aegaf o qoul Afgcrsi Ga, Uiaal & A9 He H UHl URadl § 3R 91 H dg Udhd SayRN HiHd
B g 37 [9UTEd SaURUNS] &I U PR Gdl 6 ?

1. (AR
2. faddiau
3. IR

4, HJHIO

(1) 1
) 2
3) 3
(4) 4




1[Option ID=26921] Question Description : dwbv_pg_gp20_eng_2_q6
2[Option ID=26922]
3[Option ID=26923]
4[Option ID=26924]

Sl. No.7
QBID:20201007

Which of the following Curriculum development models comes under Non-technical Non-Scientific model?

1. Taba's Model

2. Hunkin’s Development model
3. Goodlad's Model

4. Open classroom Model

11
(2) 2
3) 3
(4) 4

fgfafad 4 9 oF-91 ureaadl [A@y "isd Wideu), TR-ae-1@! IR-dgli-d J1sd (|fas) & =iid 3l 6 ?

1. 1T - AISd
2. Bftr - famrg Afsa
3. 7[3ds - Alsd

4. Hdd DE-DE HISA

1)
(2)
(3)
(4)

A W N R

1[Option ID=26925] Question Description : dwbv_pg_gp20_eng_2_q7
2[Option ID=26926]
3[Option ID=26927]
4[Option ID=26928]

Sl. No.8

QBID:20201008
—————————————— is a digitized collection of artifacts, resources, and accomplishments of an individual or group that forms part
of personal online spaces called as digital learning Platforms.

1. Automated Text Marker (ATM)
2. E- Portfolios

3. Discourse structure analysis
4. Calibrand Marker

1)
(2)
(3)
(4)

A W N R

Tl cafad srar Ug & damiadi, G R Juaier o fsfda g & o afera sHasT -HA Fifa
&¥d 8, 3 faforea siftrm wiewnd sgamd 21

1. 3ieHCS ¢RI AR (TSUH)
2.3 - Uidwifeaar

3. fouaid waR iR

4. HlsiUS A

1) 1




(2) 2

3) 3

(4) 4

1[Option ID=26929] Question Description : dwbv_pg_gp20_eng_2_q8
2[Option ID=26930]

3[Option ID=26931]
4[Option ID=26932]

Sl. No.9
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Jasmine in Chemistry practical class used a 5 ml pipette during her practical exam but the reading was not correct. When
she got frustrated, her friend Ranjita guided her to hold the pipette correctly and drop chemical properly. Now, she
succeeded and got desired results. This is an example of

1. Accommodation

2. Equilibriums

3. Assimilation

4. Zone of Proximal Development

1) 1
(2) 2
3) 3
(4) 4

S = U TG (99 & SARTRIET daf H U TR Uial o 95y U 5 e, fue o1 wanT faar fdig ursdis el
gl 11 5fd dg Bdlcalied i+ oill, de S9! 57 deiial 4 34 e @I 3id d Udbs- 3R I6EH & Yol ¢71 4 SieH &l gA1d
& 3@ I Whadl Ud @1 iR fuféd aRom U e 98 69 UHR &1 356 & ?

1. e

2. a1

3. THATCIDROT

4. geio®y faerg-aa

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=26933] Question Description : dwbv_pg_gp20_eng_2_q9
2[Option ID=26934]

3[Option ID=26935]
4[Option ID=26936]
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Which of the following are the elements of ocbservation learning (one of the outcomes of Bandura's Social Cognitive theory
of learning?)

A, Attention

B. Retention

C. Articulation

D. Production

E. Mativation

Choose the correct answer from the options given below:

1. A B and D only
2.Cand E only

3.A B, D and E only
4.B, Cand D only

1)
(2)
(3)
(4)

A W N R

fFrafciad # 9 DI Uair SHfErH (@5 @1 A ddel gHieis d9FE fbeid & URumE H 8 udh) & dd & ?
A

B. UfdeRor

C. U

D. Jdigd

E. SfHTROT

i< feu e faseal 4 4 98 I g -

1.Bad A, B 3R D
2. PAACHRE

3. Had A, B, D AR E
4.%ad B, C 3R D

1)
(2)
(3)
(4)

A W N =

1[Option ID=26937] Question Description : dwbv_pg_gp20_eng_2_q10
2[Option ID=26938]
3[Option ID=26939]
4[Option ID=26940]
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Given below are two statements:

Statement |: Applied research is concerned with generalization and the formulation of theory.
Statement |l: Fundamental research aims at finding a solution for an immediate problem facing a society.
In light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.
3. Statement | is correct but Statement Il is incorrect.
4, Statement | is incorrect but Statement Il is correct.

1) 1
) 2
3) 3
4) 4

A dl Py RU U E:

T - | : AHTERTAD Ay HRAHR 3R Riga & ufaures ¥ deftd s gl
DY - 1| : A 1Y BT 353G THIH D (bl dlebici YHEN &1 GHIHH B 6|
Iudad Syl & srdis | Fafafad faedl § 9 gdl Sav g -

1. Y 1 3R 1 &F 9 B
2. %Y | AR 11 GF T &
3. P TR g, b Y I TTad & |
4. @Y1 71Ad &, fb=g &Y 11 98l B

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=26941] Question Description : dwbv_pg_gp20_eng_2_q11
2[Option ID=26942]

3[Option ID=26943]
4[Option ID=26944]

Sl. No.12
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When a set of possible answers to select for a question is given to a respondent, it is called

1. Open-ended question
2. Classical question
3. Filtered question
4. Fixed choice question

1) 1
(2) 2
3) 3
(4) 4




o [ dl SR @ f&d vy & fou Svifdd 3™ & 994 & fau Sl &1 U Ie fadl 9l 6, i 54 &1 el oidl 6 ?

1. i (3T 3) uy

2. TR (Gereiieher) Uy

3. s Uy

4. 4144 fadbeg ard Uy (s =raq uy)

1)
(2)
(3)
(4)

A W N R

1[Option ID=26945] Question Description : dwbv_pg_gp20_eng_2_q12
2[Option ID=26946]
3[Option ID=26947]
4[Option ID=26948]

Sl. No.13
QBID:20201013

Coding schedule is used in

1. Discourse analysis
2. Rhetorical analysis
3. Content analysis

4. Narrative analysis

1)
(2)
(3)
(4)

A W N =

DI Vsga @I w4 e fHar Jmar g -

1. fom=f o) fasaioo
2. B [a=ewour

3. fa9g-a% fa=eiyur

4. gaiq fa=amo

1)
(2)
(3)
(4)

A W N R

1[Option ID=26949] Question Description : dwbv_pg_gp20_eng_2_q13
2[Option ID=26950]
3[Option ID=26951]
4[Option ID=26952]

Sl. No.14
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When a sample is chosen because it is available to the researcher, it is known as

1. Probability sampling
2. Convenience sampling
3. Systematic sampling
4. Objective sampling

1)
(2)
(3)
(4)

A W N R




e fpdt ufaeel &1 9a- gafey four o § & gg wivddl & fog 3uas §, 9 38 @ 1H-91 Ufdes $gl 9l 6 -

1. Gy Ufdaa
2. gfayreg ufa=ga
3. YEaEg Ufaagd
4. TEFAE vl

1)
(2)
(3)
(4)

A W N R

1[Option ID=26953] Question Description : dwbv_pg_gp20_eng_2_q14
2[Option ID=26954]
3[Option ID=26955]
4[Option ID=26956]

Sl. No.15
QBID:20201015

Given below are two statements:

Statement |: A Spurious relationship can be there when a relationship appears to exist between two variables.
Statement |I: The relationship between two variables is always direct, without any scope for an intervening variable.
In light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.

3. Statement | is correct but Statement Il is incorrect.
4. Statement | is incorrect but Statement Il is correct.

1)
(2)
(3)
(4)

dR Py RuUE:

DYF - | : O &l IR P oid dlg Ga¢ UdId 8idl o, df de (Har Gae gl 9odl o

HYA - 11 : & R & sl Yae H YA Bldl 6, 394 (bl S=addl &R ®I dIg JoIsD gl aldl o
Iudead HYAl b 3M1ciie H Faitiad Gl # 4 98l Su g

1. Y | SR 1 &F TR B
2. %Y | AR 11 G TTad & |
3. %Y 1Tl g, fog @Y 1 Tad § |
4. @Y1 71Ad & , fb=q BY 11 98T Bl

A W N =

1)
(2)
(3)
(4)

A W N R

1[Option ID=26957] Question Description : dwbv_pg_gp20_eng_2_q1l5
2[Option ID=26958]
3[Option ID=26959]
4[Option ID=26960]

Sl. No.16
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The term ‘analog media’ is primarily derived from

1. Newspaper reading

2. Audio recording

3. Computer printing

4. Multi-media production

1) 1
(2) 2
3) 3
(4) 4

AT (HEY) Hifar et JEId: Fyifed ¥ gad e :

1. HHHR G U4

2. 9o TFgidA (R@fam

3. HER 50l
4.\ (qg) Hifsar i

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=26961] Question Description : dwbv_pg_gp20_eng_2_q16
2[Option ID=26962]

3[Option ID=26963]
4[Option ID=26964]

Sl. No.17
QBID:20201017

Meanings in communication go beyond

1. Lexical semantics
2. Understanding
3. Knowledge

4. Internalisation

1) 1
(2) 2
3) 3
4) 4

wwor H 2rf fgifed d fHed WEEe -

1. DrEmdf @rear fava®)
2. 90

3.4

4. MBI

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=26965] Question Description : dwbv_pg_gp20_eng_2_q17
2[Option ID=26966]

3[Option ID=26967]
4[Option ID=26968]
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Which of the following are the areas that have implications because of technological convergence?
A. Aggressive communication strategies

B. Communication content

C. Work of communication professionals

D. Structure of different publics

E. Structure of communication organisations

Choose the correct answer from the options given below:

1. A B and C only
2.B, Cand D only
3.C, Dand E only
4.B, C and E only

1)
(2)
(3)
(4)

A W N R

fFrafciiad ®H-4 & € fod Weliffielg HfieR & sRru R gid 82
A. STsBTHE THYU] IUIfET

B. Tityur T

C. TUS0T O &1 B

D. fafiys-oHt (afseias) @t T

E. TUYUT WG] B LA

=i feu e fadeal 5 O 98l 3R g -

1.BaAA, B AR C
2.%aqa s, C AR D
3.%ad C, DARE
4. %ad B, C ARE

1)
(2)
(3)
(4)

A W N =

1[Option ID=26969] Question Description : dwbv_pg_gp20_eng_2_q18
2[Option ID=26970]
3[Option ID=26971]
4[Option ID=26972]

Sl. No.19
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Match List I with List Il

List | (Media Function) [List Il (Objective)

A. Surveillance I. To influence Public opinion
B. Correlation Il. Provide pleasure

C. Propaganda lll. Supply of information

D. Cultural transmission|IV. Interpretation

Choose the correct answer from the options given below:

TA-LE-ILC-1,D-1V
2ZA-IL,B-1L,C-IV,D-1
JA-NILB-IV,C-1,D-1
4A-IV,B-1,.C-1l,D-1I

(1)1
(2) 2
(3) 3
(4) 4

Tt -1 B gt - o gafed S :

e -1 @S var) el -1l (@5

A PR |. SFTHd @I gHITdd BT
B. ggday Il. g@-UGH BT

C. 3fH-yaR 111, T BT SATYfed

D. Gipidd Uy V. SREAT

Hid feu U fadeal # 4 Ugl 3w gi-u :

TA-LB-ILC-1L,D-IV
ZA-IL,B-NL,C-IV,D-1
JA-NILB-IV,C-1,D-1
4A-IV,B-1,C-1,D-1I

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=26973] Question Description : dwbv_pg_gp20_eng_2_q19
2[Option ID=26974]

3[Option ID=26975]
4[Option ID=26976]

Sl. No.20
QBID:20201020

Given below are two statements:

Statement |: The semiotic approach considers communication as production and exchange of meanings.
Statement II: The process approach looks at communication as a transmission of messages.
In light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true.

1 1




2) 2
3) 3
(4) 4

R Py RUUE:

PY - | : Yhaud U ¥, U0 &I Idied SR o (312) & fafFag & &0 § aFr o s
WU - 11 - UichaT (W) SURTH SUN0 &1 o=t & U90 & 0 & AFdT 6

Iudead HYAl b 3M1ciie H Faitiad Gl # 4 98l Su g

1. B R 11 GFf Tel Bl
2. YT 1 R 11 GH Tad g
3. @A I TRl e, g @y 1 Ted g |
4. @Y1 71Ad & , fb=g BYE 11 98l Bl

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=26977] Question Description : dwbv_pg_gp20_eng_2_q20
2[Option ID=26978]

3[Option ID=26979]
4[Option ID=26980]

Sl. No.21
QBID:20201021

A man invests ¥ 5000 in a bond which gives compound interest at 4% per annum during the first year, 5% per annum
during the second year and 10% during the third year. How much amount the man will get at the end of third year.

1.3 6500
2.3 5500
3.3 5999
4.3 6006

(1)
(2)
(3)
(4)

A W N =

U oAfdd Td 918 & T 5000 BT a9 Bl & fored 94 dehgie odTel HUH I8 H 4 % JIfed ox 4, GO a4 H 5 % alid a2 9 3R
e ad 7 10% aiite o= 4 e g1 e 9y & ge1i U 39 i & fba-t i ure grii?

1.3 6500
2.3 5500
3.3 5999
4.3 6006

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=26981] Question Description : dwbv_pg_gp20_eng_2_q21
2[Option ID=26982]

3[Option ID=26983]
4[Option ID=26984]

Sl. No.22
QBID:20201022




A man divides 3. 8,60,000 (8.6 lakhs) among his 5 sons, 4 daughters and 2 nephews. If each daughter receives four times as
much as each nephew and each son receives 5 times as much as each nephew, then how much does each daughter receive?

1. 80,000
2.3 50,000
3. ¥ 1,00,000
4.3 60,000

1) 1
(2) 2
3) 3
(4) 4

U oAfad < 8,60,000 (8.6 TME) T @1 A T 5 TA, 4 IEMAT SR 2 ol & did died &1 976 Td® T B T Ydol @1
T H IR IHT A U il & SR Ul U3 &I U el I 5 341 A1 U gl &, df U AT Pl fobai1 3 et

1. 80,000
2.% 50,000
3. % 1,00,000
4.3 60,000

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=26985] Question Description : dwbv_pg_gp20_eng_2_q22
2[Option ID=26986]

3[Option ID=26987]
4[Option ID=26988]

Sl. No.23
QBID:20201023

Which of the following expressions has the value equal to 1 (one)?

(0.011)2
*(L1)2X (0.01)2
{0.11)2
2 (112X 0.1
(1.1)®
112X (0.01)2
{0.11)2
“112X0.01

3

1)
(2)
(3)
(4)

fgfafad 4 4 &9 ofvie &1 9F 1 (@) & 99 &7

{0.011)2
T DX (0.00)?
(0.11)2
2. (112X 0.1
(1.1)2
112X (0.01)2
(0.11)2
“112X 0.01

A W N R

3

1) 1




(2) 2

3) 3

(4) 4

1[Option ID=26989] Question Description : dwbv_pg_gp20_eng_2_q23
2[Option ID=26990]

3[Option ID=26991]
4[Option ID=26992]

Sl. No.24
QBID:20201024

If in a certain coding language ‘Fraction’ is Coded as "Carfnoit” and 'System’ is coded as "Sysmet’, then in that Coding
language how ‘material’ will be coded?

1. "eltaaimr’
2. 'lairetam’
3. ‘etamlair’
4. 'etalmair’

1) 1
) 2
(3) 3
(4) 4

i fbd B¢ UM H *fraction’ B "carfnoit’ AR system’ Bl sysmet’ & ©U H Dedg [l Sl 8, ol Sad de HIN H 'material’
@I HY peas [l Sw?

1. eltaaimr
2. lairetam
3. etamlair
4, etalmair

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=26993] Question Description : dwbv_pg_gp20_eng_2_q24
2[Option ID=26994]

3[Option ID=26995]
4[Option ID=26996]

Sl. No.25
QBID:20201025

What number should replace question mark (?) in the series given below:
51,153,765, 229.5, 114.75, 344.25, 7

1.172.125
2.1032.75
3.516.375
4. 2581875

1) 1
(2) 2
(3) 3
(4) 4




FufciRaa i@ ¥ fow e & uydras [0 (7) & UiaRiiid &1 aige?
51, 153, 76.5, 229.5, 114.75, 344.25, 7

1.172.125
2.1032.75
3.516.375
4, 258.1875

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=26997] Question Description : dwbv_pg_gp20_eng_2_q25
2[Option ID=26998]

3[Option ID=26999]
4[Option ID=27000]

Sl. No.26
QBID:20201026

The following statement is an example of which logical fallacy- “Elephants live in tropical climates where there is plenty of
vegetation. So we probably would not see any at the Chicago zoo.”

1. Red herring

2. Hasty generalization
3. Fallacy of accident
4. Appeal to authority

(1) 1
) 2
3) 3
(4) 4

Fafefad &y U UPR & dhaly @ Ue 3aeU & - “erft Suidmicatdiy Saarg & i 9id € a9ifd agf aafd (@s-uieh) 3
TRl & | §udaa: 39T &1 e ffsarR & 313 off grh 78t < una-

1.3 'R

2. el e
3. ST dhaN

4. UMD R {98

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=27001] Question Description : dwbv_pg_gp20_eng_2_q26
2[Option ID=27002]

3[Option ID=27003]
4[Option ID=27004]

Sl. No.27
QBID:20201027

Which of the following statements is logically equivalent to the statement — “No frogs are mammals”?

1. No mammals are frogs.

2. All non-mammals are non-frogs.

3. Some non-mammals are not non-frogs.
4. Some mammals are non-frogs.




1) 1
(2) 2
(3) 3
(4) 4

fafaiad o 9 -9 &Y difb® €4 4 39 Y- "By o Hed WU Tl - @ 99dd o7

1. @iy ot TR Hed el g

2. guff IR, IR-He@ |

3. B9 IR-WHUR, R-Hew T8 51
4. TS WUl R-HAcH B

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=27005] Question Description : dwbv_pg_gp20_eng_2_q27
2[Option ID=27006]

3[Option ID=27007]
4[Option ID=27008]

Sl. No.28
QBID:20201028

If the proposition- 'Some frogs are not mammals.’ is given as false, then which of the following propositions can be
immediately inferred to be false?

1. Some frogs are mammals.
2. All non-frogs are mammals.
3. No frogs are mammals.

4. All frogs are mammals.

(1) 1
() 2
3) 3
(4) 4

I faed- P e WU el old & | 390 & &4 | &1 741 & dl Hafdad 3 9 @H-4 nfagidd of daia® €99
HYA B & w4 H a1 a1 o bl 67

1. 99 Hed WU Bid g

2. qufi IR-Hew WU gid 81

3. ®IE i Hed Tur T8 BT gl
4. qiff Hed WU BId €1

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=27009] Question Description : dwbv_pg_gp20_eng_2_q28
2[Option ID=27010]

3[Option ID=27011]
4[Option ID=27012]

Sl. No.29
QBID:20201029




Which of the following propositions are so related that they cannot both be false although they may both be true?
A. All tigers are man-eaters.

B. Some tigers are man-eaters.

C. Some tigers are not man-eaters.

D. No tigers are man-eaters.

Choose the correct answer from the options given below:

1.B and C only
2.Cand D only
3.Aand D only
4. A and C only

(1)
(2)
(3)
(4)

A W N R

Frafafad -4 ufagitadl 59 UeR U U6idd ¢ [ d oAl oid el 8! 9dd! 99U d Gl 9 o 9ddl @ ?
A. Tt are Rl B

B. T 1Y R-H&fl &1

C. % a9 R-Hall ol 5|

D. @3 off g TR-veft T2t B

i feu U famel § 9 98 S A -

1. Had B AR C
2.%ad C 3R D
3. Had A 3R D
4. HIAA AR C

(1)
(2)
(3)
(4)

A W N R

1[Option ID=27013] Question Description : dwbv_pg_gp20_eng_2_q29
2[Option ID=27014]
3[Option ID=27015]
4[Option ID=27016]

Sl. No.30
QBID:20201030

Which of the following argument is an example of the fallacy of Vyapyatvasiddha according to Nyaya (classical Indian
school of Logic)?

1. Sound is quality because it is visible.
2. Sound is eternal, because it is audible.
3. Fire is cold because it is a substance.
4. Wherever there is fire, there is smoke.

1) 1
(2) 2
3) 3




(4) 4

A (YR MR dH9RE-0d) & R Fafafaa d oF auafas ad o & U6 3aeU 8?

1. @1 Tah 70T § s O e el 21
2. & T & i 78 Yy Bidt B

3. 3T G381 & T I8 TP 5o Bid B

4. Sgi-ogl Wi 3R §, 9gi-del Y3il gl

1)
(2)
(3)
(4)

A W N R

1[Option ID=27017] Question Description : dwbv_pg_gp20_eng_2_q30
2[Option ID=27018]
3[Option ID=27019]
4[Option ID=27020]

Sl. No.31
QBID:20201031

In MS-EXCEL, Cell B9 contains the value 3, and B10 contains the value 6. You select both the cells and drag the fill handle
down to B13. The contents of the cell B11, B12, and B13 will be

1.3,6,3
2.7,89
3.9,12,15
4.6,6,6

1)
(2)
(3)
(4)

A W N R

THUY - TEa |, 89 9a &1 M 3 €, 3R 810 a0 &1 0 6 &1 1T GHI Jail &I 99 Bid & AR hd 650 @I -1d B13 TP
Wiad gU T od 8| Yd B11, B12 3R B13 B Sfdded ——-- 8F1l :

1.3,6,3
2.7,89
3.9,12,15
4.6,6,6

1)
(2)
(3)
(4)

A W N R

1[Option ID=27021] Question Description : dwbv_pg_gp20_eng_2_q31
2[Option ID=27022]
3[Option ID=27023]
4[Option ID=27024]

Sl. No.32
QBID:20201032

What is the component of Web 3.0 that describes things in a way that computers can understand?

1. Social tagging
2. Sustaining web
3. Social web

4. Semantic web




(1) 1
(2) 2
(3) 3
(4) 4

39 3.0 D1 ¢ 9P DH Tl & ol gioll &I 39 HBR ° aiord $dl & (o fored HrgeX 99 9adl 67

1. AT Sid (WIRTd ¢him)
2. HYR® (@M 39
3. YIS (|iee) 99
4. 3fig (@af=®) 39

(1) 1

(2) 2

3) 3

(4) 4

1[Option ID=27025] Question Description : dwbv_pg_gp20_eng_2_q32
2[Option ID=27026]

3[Option ID=27027]
4[Option ID=27028]

Sl. No.33
QBID:20201033

Given below are two statements about internal/external computer memory:

Statement I: A portable hard drive is an example of internal memory.

Statement II: Magnetic tape is used to store backups of data.

In light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4, Statement | is false but Statement Il is true,

1) 1
(2) 2
3) 3
(4) 4

i sffaR@ / IR SR Fid d YeH Ha dH el /g

HYT - |- TS BT Igd HdRD Fid BT TP IS ¢

DY - 1| : TP 20 &1 WaNT STel-Yfdar (d3id) i Tiad B3 & oL fbar gl
Iudad Syl & die | Fafafad faeedl 4 9 g Sav g -

1. ®Y | 3R 11 SHT 9ET §
2. %Y | AR 11 G T &
3. 9Y 1 TSI g, fg Py 1 TTad B |
4. Y1 TTAd &, fb=g By 11 98T B

(1)1
(2) 2
(3) 3
(4) 4

1[Option ID=27029] Question Description : dwbv_pg_gp20_eng_2_q33
2[Option ID=27030]




3[Option ID=27031]
4[Option ID=27032]

Sl. No.34
QBID:20201034

Which of the following statements are TRUE?

A. A standard format for compressed video files is MPEG.

B. .WAV files are not compressed.

C. A compressed file will be transmitted faster over a network.
Choose the correct answer from the options given below:

1. A and B only
2. A and Conly
3.B and C only
4. A BandC

1)
(2)
(3)
(4)

A W N R

Fafaiad 5 4 @H d oy 981 &7

A. Uifsq difsal wigdl & fou 9@ Bie uq 0 § off (MPEG) 81
B. &g U dl (WAV) BISd Guifed 81 el B

C. ®is 4difsd wigd fdl Acad W sifie digar 4 uftd gifi
- feu U fameal § 9 9 SR A -

1. Bad A AR B
2. PAAAIARC
3. Had B AR C
4.7 B3RC

1)
(2)
(3)
(4)

A W N =

1[Option ID=27033] Question Description : dwbv_pg_gp20_eng_2_q34
2[Option ID=27034]
3[Option ID=27035]
4[Option ID=27036]

Sl. No.35
QBID:20201035




Match List I with List Il

List | (Feature of email software)

List Il (Description)

A. Carbon copy

. Allows you to add personal data to the email.

B. Email signature

II. Allows you to send the same email to more than one person at once.

C. Address book

1. Allows you to send a photograph with your email.

D. File attachment

IV. Allows you to store contact details.

1)
(2)
(3)
(4)

TA-LE-ILC-1V,D-1l
2ZA-ILB-LC-IV,D-1I
3JA-ILB-IV,C-1,D-1I
4A-NILB-1,C-IV,D-1

A W N R

Choose the correct answer from the options given below:

Tt -1 B gt - o gafed S :

1)
(2)
(3)
(4)

1[Option ID=27037]
2[Option ID=27038]
3[Option ID=27039]
4[Option ID=27040]

Tt -1 (5 T TR Pt i @
A, BTE BT 1. AT SHT IR AfGdTd STel SIS &dl &
II. 39®| TP 9 H THID Afead @l ol
B. 300 R ENEENEL
111, 3T9@! IS sHd & 91 UH BIeHD
CTHTP 2 E
D. BI3d JHeahi< Iv. 3ATUH] WU [Gaur dfed &3 ¢l g
i feu U fadeal o © Uel SR gHU :

TA-LB-ILC-1IV,D-1l
2ZA-ILB-1,C-IV,.D-1I
A-ILB-IV,C-1,D-1
4A-NLB-1L,C-IV,D-1

A W N R

Question Description : dwbv_pg_gp20_eng_2_q35

Sl. No.36
QBID:20201036

1. Agenda 30

Sustainable Development Goals (SDGs) are also known as

2. Agenda 35
3. Agenda 17
4. Agenda 10

1) 1
) 2
3) 3




(4) 4

Hyruftg famra aeaf @y, 3. o) & 59 370 w9 F oft 991 91 82

1. TalST (@RI - 30
2.Tol3T - 35
3. TSiaT - 17
4. TS13T - 10

1)
(2)
(3)
(4)

A W N =

1[Option ID=27041] Question Description : dwbv_pg_gp20_eng_2_q36
2[Option ID=27042]
3[Option ID=27043]
4[Option ID=27044]

Sl. No.37
QBID:20201037

Given below are two statements:
Statement I: Most soils are stratified into horizontal layers called as scil profile.
Statement II: A cross sectional view of the harizons in a soil is called as soil horizon.

In light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true.

(1)
(2)
(3)
(4)

A W N R

AR d e RumeE:

B - |- B HaTd Ao ol # Wiidd gl & ol gal URSeH (MwbT5a) Hel ol
HY - 11 JaT H TERT BT S0 uR=fad e ger TR dgad g

B T

1. @Y | 3R 11 ST W1 1
2. B 1 AR 11 ST TTAd & |
3. PYT I TEI €, g YT 11 TTeieT € |
4. BY 1T &, g dYE 1 T8l B

1)
(2)
(3)
(4)

A W N R

1[Option ID=27045] Question Description : dwbv_pg_gp20_eng_2_q37
2[Option ID=27046]
3[Option ID=27047]
4[Option ID=27048]

Sl. No.38
QBID:20201038




A general term for downhill slides of earth is known as?

1. Mass wasting
2. Earth wasting
3. Mud wasting
4. Hill wasting

1) 1
(2) 2
3) 3
(4) 4

gl & IR T (SISHied WIS SY) 8 Wdd 9HH UG o] hedldl 87

1. 954 &RUI
2. ged &R
3. U@ &R0

4. UTS! &RUT

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=27049] Question Description : dwbv_pg_gp20_eng_2_q38
2[Option ID=27050]

3[Option ID=27051]
4[Option ID=27052]

Sl. No.39
QBID:20201039

Given below are two statements:

Statement I: Allergens are substances that activate the immune system.

Statement II: Concentration of allergens in indoor environment can be thousand times higher than in the air outside.

In light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement | and Statement Il are true.
2. Both Statement | and Statement Il are false.
3. Statement | is true but Statement Il is false.
4. Statement | is false but Statement Il is true.

1) 1
(2) 2
3) 3
(4) 4




EIEFCAE A

HY - | : U d %00 & ol Ui 3 & 9fehd &d &

T - 11 : ATRD TG0 H FeguiH! &I YFE01 dTe<] gdl ¥ 59k H S=R of Ubdl g
Sugad Byl b Srdie H FufaRad fabedl § 9 g gae g :

1. BYA 1 3R 11 §HI GET &)
2. %Y | AR 11 ST A &
3. DY I HEI 8, g YT 11 T © |
4. Y| TAd &, fog dYE 1 TT B

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=27053] Question Description : dwbv_pg_gp20_eng_2_q39
2[Option ID=27054]

3[Option ID=27055]
4[Option ID=27056]

Sl. No.40
QBID:20201040

Which of the following Volatile Organic Compound (VOC), a kind of air pollutant, is emitted from natural sources such as
plants, bogs etc.?

1. Formaldehyde
2. Benzene
3. Terpene
4. Toluene

OR!
(2) 2
3) 3
(4) 4

Fofaiad 9 ugue! & U6 TR, SRR dEi-e diffte @ of @) 7 8 &F 91 el Toeal e Sid Uafde gareH 9
Jeafeid gid1 87

1. PS8R S
2. §T
3. 20

4. T

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=27057] Question Description : dwbv_pg_gp20_eng_2_q40
2[Option ID=27058]

3[Option ID=27059]
4[Option ID=27060]

Sl. No.41
QBID:20201041




The main objective of the Fourth Five-year plan was to

1. Improve the standards of teacher education

2. Establish sports colleges in universities

3. Set up international culture centres in select universities

4. Control the university system in India with limited academic freedom

1) 1
(2) 2
3) 3
(4) 4

Ty daada T ST g5 35Rg T A

1. TR1&id T8 & AHDI H GUR T

2. fasfaeyeral # W AgTaeeral o @G- BT

3. gifar fayfRrert # SiRi¥ia SRPiae dwsl B R BT

4. HRA H YifHd fblaiid wWdadl & 9 fayfdeed o & FRifa &

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=27061] Question Description : dwbv_pg_gp20_eng_2_q41
2[Option ID=27062]

3[Option ID=27063]
4[Option ID=27064]

Sl. No.42
QBID:20201042

Which of the following were the functions of National Council for Women's Education in India?
A. To encourage Women's movements in the world

B. To advise the Union government on issues related to Women’s education

C. To involve voluntary organizations in Women's education

D. To periodically evaluate the progress of Women's education

E. Discourage seminars and surveys that affect Women's education in India

Choose the correct answer from the options given below:

1. A B and C only
2.B,Cand D only
3.C, Dand E only
4. A, D and E only

(1) 1
(2) 2
(3) 3
(4) 4




YRA H APy Afea R uRkug & Hafiied J 4 o 9 o U

A. fasy % Afgansll & siiciaHl & WidreH o

B. Afgareit @ fi&m ¥ Taftd J5] R Y9-IROR @ GaTg ol

c. Tifeael &1 fRian ¥ Wies® Wiet &f Sfed &e

D. Afgerrafl @ g1 &1 WIfd &1 fafie ©U 3 e Hel

E. 31 [@aR TNl SR wdeivll & galdiied o1, Sl HRd # #Afgca &1 e & uHifad dd g
Feffr e A A T S

1. Bad A, B AR C
2.%ad B, C AR D
3.%ddC, DARE
4. PHddA DIARE

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=27065] Question Description : dwbv_pg_gp20_eng_2_q42
2[Option ID=27066]

3[Option ID=27067]
4[Option ID=27068]

Sl. No.43
QBID:20201043

Which of the following are the goals of Student Induction Programme (SIP) initiated by UGC in institutions of higher
Learning?

A. Inculcate the emotional or intellectual energy and values of Higher Education Institution (HEI)

B. Improvement of infrastructure in premier institutions of the country

C. Develop the inherent competences and kindle a positive attitude in the new entrants of higher education
D. Cultivate a sense of intimacy and an awareness of privileges and responsibilities

Choose the correct answer from the options given below:

1. A, Cand D only
2. A and Conly
3.B, Cand D only
4.B and D only

(1) 1
(2) 2
(3) 3
(4) 4




g ofl. . gR1 IedcR HIeTH Tyl § YR®Y foog 7Te faenedl udw srises (w9, 3s. Ul) & FufdRad ¥ U oY deg 82
A. W FRIET YRIH BT HIGIHS d1 dllsd Sl Ud Heldl &1 79 H S3HI

B. GXT & Ui RN W=yl F Sradamn o guR I

C. [fga emdietl ®f fabfid B! 3R I=dcR & & U Ya=d! H U YbRIAD SHHgRI Uaidd Bl

D. TRl B HIgHT 3R GRUReRI td Juiaiiial el SrRedal 1 Ui @1

i< feu 7Tu fa@eal 5 § 98l 3w 9 -

1.Hdd A, CIHRD
2.%ad A 3R C
3. %dd B, C 3R D
4.%aq B AR D

1) 1

(2) 2

3) 3

(4) 4

1[Option ID=27069] Question Description : dwbv_pg_gp20_eng_2_q43
2[Option ID=27070]

3[Option ID=27071]
4[Option ID=27072]

Sl. No.44
QBID:20201044

Which of the following educational Institution was raised into a university in May, 1958 and was established in 1911 owing
its inception to the princely donations of the Tata family?

1. The Indian Institute of Technology, Kanpur
2. Tata Institute of Fundamental Research

3. The Indian Institute of Science, Bangalore
4. The Indian Institute of Technology, Bombay

1) 1
(2) 2
(3) 3
(4) 4

Frgfafad 4 9 &g [an 9uE & 143, 1958 § U faufdene 4 Ianfud famar mar 3R f5g 3Ry 4 2el URaR & SR GH &
RO IY 1911 T w1t foman mar o1 2

1. YRdG RIS GRF, FAR

2. AT HIER Hd U R (C1e] SReaye 3t heH=<d 4q)
3. YR fag S8, dTaR

4. YRAM™ URIfS! 4H, §65

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=27073] Question Description : dwbv_pg_gp20_eng_2_q44
2[Option ID=27074]

3[Option ID=27075]
4[Option ID=27076]

Sl. No.45
QBID:20201045




Which of the following universities developed in connection with the viharas during ancient period in India?
A. Nalanda

B. Navadeep

C. Odantapuri

D. Kanchi

Choose the correct answer from the options given below:

1.B, Cand D only
2.B and D only
3. A and C only
4. A B and C only

1) 1
(2) 2
(3) 3
(4) 4

HRA H UH ®1d & oRH Hafciad § 3 oF ¥ fayfdac faeri & 9y @6y & ®u H fdalid gu
A. Tciel
B. @5

C. A
D. @il
i feu U fadeul H 9 Ul 3w g

1.®%ad B, C AR D
2.%ad B 3R D
3. HAAA 3R C
4.Had A, B3R C

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=27077] Question Description : dwbv_pg_gp20_eng_2_q45
2[Option ID=27078]

3[Option ID=27079]
4[Option ID=27080]

Sl. No.46
QBID:20201046




Read the passage carefully and answer the question that follows:

The Afghan pressures on Chitral, which had already been drawn close to the Indian empire through its allegiance to Kashmir
in late 1876, assumed seriousness in 1882 when Kabul claimed this territory ‘as one of its protected states’. Though the
Government of India was quick in rebutting such claims, the reported Russian intrigues in and around Chitral caused
additional concern. The newly-established Resident in Kashmir could hardly extend effective control of the Durbar or even
the British Indian government over the turbulent chiefships of Hunza and Nagar. The Panjdeh crisis of 1885 also helped in
focusing the British military opinion on the need to make elaborate arrangements for the defence of the north-west frontier.
So it was not a mere coincidence that the year 1885 was marked by the dispatch of two exploratory missions, one under Col.
Lockhart, the Deputy Quarter Master General of India, to survey the lands south of Hindu Kush via Gilgit and Chitral, and the
other under Ney Elias to Chinese Turkestan and the Pamirs. Meanwhile the Defence Committee’s recommendation for
extending the Srinagar-Rawalpindi cart-road to Gilgit and Chitral; had been approved by Dufferin. The new Commander-in-
Chief, F. Roberts, even suggested that ‘'we should have political control over the country around Chitral and Gilgit in order to
secure the approaches to the former by the Dora pass and to the latter through Wakhan'.

frafafEa e o) ufey ok Uy & I e

e W BT &1 &did ol fd 1876 & Ja¥d H HRHR & Uid S931 BT & BRI HRAG YH & At Hde Ugd
a1 4T, Y 1882 H TR B T4 |ifd HBIHEE A 59 YYFT W 30 TP GUad I50° & F9 F gl [l Jefl HRd WeR A
39 T4 &1 dabTd Ge o, foaa § oiR 39% IRT 3R $fid T wfeq syma! 4 f&far ik 9¢ i R ¥ 79 =ifia
Yeile A dl GRaR W G0 & YbT 3R A g1 6 HRAY WHR gl aul AR & SHid - R FU=0 S gl |

gy 1885 & Udles dae 4 4l Iv ufEw GiHid &7 @1 GR&/T o UG UeYy &3 Si A[axaddl & Yay H fafew 391 & faar &=
$fgd B & Gerar el | oG 98 dad Sar e o1 f% a¥ 1885 § & Giell fiRF 18 o-d aiRard f3U¢1 S8y Rel ok
H1E 5501 & g | Mafiie qun foerd gid gu fig o3 & <fém &1 yfft o1 Tdarr S3 aul g1 9t giaq a1 ueR & @ik
< T & Aq@ T Udat oA & [ Oe T 41 33 g fARIaaitSl s & fiafie au fiEd 9@ sel 9 & d9y
H &1 giAfd 3 AWl &f SWRA A siHiiGd fbar 411 98 HHiS - 31 - diK, Uh ey 4 g Hi g 1 & g+ faad aur
fiafite & °aRT iR A <= W IAeHIae FHF0 &A1 8RN diid GRT &3 gRI1 [iAd ddb @1 Ugd oYl dReH gR1 RIaiTe db ol

Ugd giHiSd & o 9|

Who was entrusted with the responsibility to survey the Chinese Turkestan?

1. Col. Lockhart
2. Ney Elias

3. Dufferin

4. F. Roberts

(1) 1
) 2
3) 3
(4) 4

fore oafe o JiHi Jibwi & Tdeil & fsmieRl 9idi 78 iz

1. B dibare

2.4 oo
3. 8HIA

4, UG @y

1) 1
(2) 2
(3) 3
(4) 4




1[Option ID=27081] Question Description : dwbv_pg_gp20_eng_2_q46
2[Option ID=27082]
3[Option ID=27083]
4[Option ID=27084]

Sl. No.47
QBID:20201047

Read the passage carefully and answer the question that follows:

The Afghan pressures on Chitral, which had already been drawn close to the Indian empire through its allegiance to Kashmir
in late 1876, assumed seriousness in 1882 when Kabul claimed this territory ‘as one of its protected states’. Though the
Government of India was quick in rebutting such claims, the reported Russian intrigues in and around Chitral caused
additional concern. The newly-established Resident in Kashmir could hardly extend effective control of the Durbar or even
the British Indian government over the turbulent chiefships of Hunza and Nagar. The Panjdeh crisis of 1885 also helped in
focusing the British military opinion on the need to make elaborate arrangements for the defence of the north-west frontier.
So it was not a mere coincidence that the year 1885 was marked by the dispatch of two exploratory missions, one under Col.
Lockhart, the Deputy Quarter Master General of India, to survey the lands south of Hindu Kush via Gilgit and Chitral, and the
other under Ney Elias to Chinese Turkestan and the Pamirs. Meanwhile the Defence Committee’s recommendation for
extending the Srinagar-Rawalpindi cart-road to Gilgit and Chitral; had been approved by Dufferin. The new Commander-in-
Chief, F. Roberts, even suggested that ‘we should have political control over the country around Chitral and Gilgit in order to
secure the approaches to the former by the Dora pass and to the latter through Wakhan'.

Frafafay e 1 e ofk uy & 3w difem|

e W B &1 gard ol i 1876 & It H =R & Uld 39! F8T & SR HRAE YH & At Hdbe ugd
T 4T, Y 1882 H MR B 1 Fifdy ABIHEE A 58 YHAT U Y- U W& I50° & F9 H glal [l el HRd WROR
39 G4 &1 dabld Gs e, fEa o ofR 39% IR! &R i ©4 wfeq syma! 4 fHar 9k 98 7 R ¥ 79 wifia
eilee A df &RaR | g0 & 91 iR 7 81 #8few HRAg TR g1 auT AR & Si=1id TaSa &R FaE0 $2 9@t

qu 1885 B Uolog Ude o Hi 3R UIHH UiHid &7 $1 Y& 5d IUD UaY S & Aa3gbdl & Y9 H {6fe= U1 & faar @
digd S 1 "gradr el | 3ia: I8 dvacl ST -1gl o1 i ay 1885 H gl Wioll [H2H Ush d-id diRale [SYEl H1e} AR oiRd
HI% 3f5a1 & -iged H Fafie qur fEd gid gu f6g $- & Gléiv & Y BT Yd&ivr - oyl gERT di-iT didesd= oyl Uik &1 3R
S UfeRITY & -iged § Hd&r B & fore Hol 1 4| 341 /i fFR-Uaaits s @l e au Ed 9o 96l 9H & 48y
¥ 3&T g ot RIwRE! & Wi 3 srHifed fhar 4Tl 78 $HST - 37 - 9%, % J9<d 1 I Hi ga & fos 59 foma au
e & 9RT R A X W IoHae G0 ST 811 diid GRT &3 &R1 foAd dd @1 Ugd a4l ae- gRT R 9@ o1

Ugd GiHiEd &1 o 9o |

The areas in and around Chitral witnessed conflicting claims from
A. Afghans

B. Russians

C. British

Choose the correct answer from the options given below:

1. A and B only
2.B and C only
3.Aand Conly
4.A BandC

1 1
(2) 2
3) 3
(4) 4




el & 9RT 3R Ry &5 7 fbw 21 & e f&Ridi ord < ol fel?
A. MBI

B.¥H

c. fere

i< feu U fadeal 4 4 98 I g -

1. Bad A AR B
2.%aaB AR C
3. PAAAIRC
4.7 B3RC

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=27085] Question Description : dwbv_pg_gp20_eng_2_q47
2[Option ID=27086]

3[Option ID=27087]
4[Option ID=27088]

Sl. No.48
QBID:20201048

Read the passage carefully and answer the question that follows:

The Afghan pressures on Chitral, which had already been drawn close to the Indian empire through its allegiance to Kashmir
in late 1876, assumed sericusness in 1882 when Kabul claimed this territory ‘as one of its protected states’. Though the
Government of India was quick in rebutting such claims, the reported Russian intrigues in and around Chitral caused
additional concern. The newly-established Resident in Kashmir could hardly extend effective control of the Durbar or even
the British Indian government over the turbulent chiefships of Hunza and Nagar. The Panjdeh crisis of 1885 also helped in
focusing the British military opinion on the need to make elaborate arrangements for the defence of the north-west frontier.
So it was not a mere coincidence that the year 1885 was marked by the dispatch of two exploratory missions, one under Col.
Lockhart, the Deputy Quarter Master General of India, to survey the lands south of Hindu Kush via Gilgit and Chitral, and the
other under Ney Elias to Chinese Turkestan and the Pamirs. Meanwhile the Defence Committee’s recommendation for
extending the Srinagar-Rawalpindi cart-road to Gilgit and Chitral; had been approved by Dufferin. The new Commander-in-
Chief, F. Roberts, even suggested that ‘we should have political control over the country around Chitral and Gilgit in order to
secure the approaches to the former by the Dora pass and to the latter through Wakhan'.

FrafafEa e &1 ufde ofk uy & I S|

e W BT &1 &a| ol {1876 & ¥t & HRAR & Uid S91 B & BRI HRAG TE & At Hde Tgd
T AT, 94 1882 H TR B 1 il B A 39 YHAT IR 30 T Y& I & T § rdl {61 Il HRd WHR
39 G4 &1 dbld We b, fiEa § 8iR 39% IRT 3R fid &4 wfea syFe! 4 fHar iR 9g i R ¥ 79 wuifig
Yolle-e 9 dl GRaR W FEFu 6 I@T 3R A g f6fe= HRA™ WER g1l auT AFR & =i Thdhd W HEF0 & 91|

ay 1885 & Uolsg dbe ¥ Hi 3R UiHH IHid & 31 GR&1 o HIUS Hae B &1 Aaxgdhdl & Jay H 6o 441 @ faar &=
$f5d T o gerdl el | oia: T8 dad T4 el o1 {6 a9 1885 § &l Wioll [H=H U6 B-d dRale [8ge] ®el AR orikd
A1 3151 & g | FIaRIE Y1 Fhid Bid §U fég DX & Ciail &1 4 BT Y& S Ul GERT IH1 Gibwi a4l UHR 3 3R
S UIeRITY o Higed H Hd&ur dA @ feie Hel 71 41 331 |l fFRIadltst s &l Falie au1 Ed 9b 9 9H & d6y
H Y& GiAfd @ RAwiRal @ SwiA A sHifGd foar 411 98 HHisR - 31 - ik, Wh ey - 9 i gaird 61 & g+ foma aur
e & 9RT SR Yd ;1 IR AoFiae g0 &A1 811 difds GRT &3 gR1 A dd @1 Ugd al aRg- gRT FIAiie ad &l

Ugd GiiEd & o 9 |




Given below are two statements:

Statement |: Approach to Chitral was through Wakhan.

Statement |I: Lands situated south of the Hindu Kush could be approached via Chitral and Gilgit

In light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement | and Statement Il are correct.

2. Both Statement | and Statement Il are incorrect.

3. Statement | is correct but Statement Il is incorrect.
4, Statement | is incorrect but Statement Il is correct.

1)
(2)
(3)
(4)

A W N R

R Py RUUE:

PY - | - T 96 Ugd IrEd grRI 4l

@Y - 11 : g D & Gla Ry YA ad e qun Mafiie gR1 Ugdr o Y 4l
Iuad Bl S 3rrciie | Faftiiad fdeddl J 4 98l S g

1. @Y1 AR 11 GFf TR Bl
2. YA | AR 11 &HT TTad B
3.7 I TRl e, g sy 1 TEd g |
4. @Y1 71Ad & , fb=g BYE 11 98l Bl

1)
(2)
(3)
(4)

A W N R

1[Option ID=27089] Question Description : dwbv_pg_gp20_eng_2_q48
2[Option ID=27090]
3[Option ID=27091]
4[Option ID=27092]

Sl. No.49
QBID:20201049




Read the passage carefully and answer the question that follows:

The Afghan pressures on Chitral, which had already been drawn close to the Indian empire through its allegiance to Kashmir
in late 1876, assumed seriousness in 1882 when Kabul claimed this territory ‘as one of its protected states’. Though the
Government of India was quick in rebutting such claims, the reported Russian intrigues in and around Chitral caused
additional concern. The newly-established Resident in Kashmir could hardly extend effective control of the Durbar or even
the British Indian government over the turbulent chiefships of Hunza and Nagar. The Panjdeh crisis of 1885 also helped in
focusing the British military opinion on the need to make elaborate arrangements for the defence of the north-west frontier.
So it was not a mere coincidence that the year 1885 was marked by the dispatch of two exploratory missions, one under Col.
Lockhart, the Deputy Quarter Master General of India, to survey the lands south of Hindu Kush via Gilgit and Chitral, and the
other under Ney Elias to Chinese Turkestan and the Pamirs. Meanwhile the Defence Committee’s recommendation for
extending the Srinagar-Rawalpindi cart-road to Gilgit and Chitral; had been approved by Dufferin. The new Commander-in-
Chief, F. Roberts, even suggested that ‘'we should have political control over the country around Chitral and Gilgit in order to
secure the approaches to the former by the Dora pass and to the latter through Wakhan'.

FrafafEa T $1 ufde ok uy & I Sl

e W B &1 di[d ol fd 1876 & Javd H &=HR & Uid $9@1 BT & SR 4RI 9 & A8 Ade ugd
a1 4T, Y 1882 H TR B T4 |ifd HBIHEE A 59 YYFT W 30 TP GUad I50° & F9 F gl [l Jefl HRd WeR A
39 T4 &1 dabTd Ge o, foaa § oiR 39% IRT 3R $fid T wfeq syma! 4 f&far ik 9¢ i R ¥ 79 =ifia
Yeile A dl GRaR W G0 & YbT 3R A g1 6 HRAY WHR gl aul AR & SHid - R FU=0 S gl |

gy 1885 & Udles dae 4 4l Iv ufEw GiHid &7 @1 GR&/T o UG UeYy &3 Si A[axaddl & Yay H fafew 391 & faar &=
$fgd B o Termal el | o 98 dad Sar el o1 f& a¥ 1885 T & @iell fiRF ta o-d diRard (3581 S8y Rel ok
A5 3501 & g | Mafie qun fod gid gU g o3 & <fé &1 4 o1 Tdarr &3 aul gaRT 91 gibaq a1 uHR @ ¢k
S UfeR & Aga § A& $3- & o Uol T 41 39§ fFRIaatel de-ie @f fafie 991 fEd 9@ 9ed 9H & 98y
H &1 giAfd 3 AWl &f SWRA A siHiiGd fbar 411 98 HHiS - 31 - diK, Uh ey 4 g Hi g 1 & g+ faad aur
fiafite & °aRT iR A <= W IAeHIae FHF0 &A1 8RN diid GRT &3 gRI1 [iAd ddb @1 Ugd oYl dReH gR1 RIaiTe db ol
Ugd giHiSd & o 9|

The British were finding it challenging to control

A. Chitral

B. Hunza

C. Nagar

Choose the correct answer from the options given below:

1. A and B only
2.B and C only
3.Aand Conly
4. A BandC

(1) 1
(2) 2
3) 3
(4) 4




FufeiRad o 9 oy Fafa o 5 St & gHIfadl &1 QAT B US 38T 41 ?
A feFd

B.Bull

C. R

i< feu e fadeal 5 4 98 I g -

1. Bad A AR B
2. ®aae AR C
3. Haqd AR C
4.7 B3RC

(1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=27093] Question Description : dwbv_pg_gp20_eng_2_q49
2[Option ID=27094]

3[Option ID=27095]
4[Option ID=27096]

Sl. No.50
QBID:20201050

Read the passage carefully and answer the question that follows:

The Afghan pressures on Chitral, which had already been drawn close to the Indian empire through its allegiance to Kashmir
in late 1876, assumed seriousness in 1882 when Kabul claimed this territory ‘as one of its protected states’. Though the
Government of India was quick in rebutting such claims, the reported Russian intrigues in and around Chitral caused
additional concern. The newly-established Resident in Kashmir could hardly extend effective control of the Durbar or even
the British Indian government over the turbulent chiefships of Hunza and Nagar. The Panjdeh crisis of 1885 also helped in
focusing the British military opinion on the need to make elaborate arrangements for the defence of the north-west frontier.
So it was not a mere coincidence that the year 1885 was marked by the dispatch of two exploratory missions, one under Caol.
Lockhart, the Deputy Quarter Master General of India, to survey the lands south of Hindu Kush via Gilgit and Chitral, and the
other under Ney Elias to Chinese Turkestan and the Pamirs. Meanwhile the Defence Committee’s recommendation for
extending the Srinagar-Rawalpindi cart-road to Gilgit and Chitral; had been approved by Dufferin. The new Commander-in-
Chief, F. Roberts, even suggested that ‘we should have political control over the country around Chitral and Gilgit in order to
secure the approaches to the former by the Dora pass and to the latter through Wakhan'.

Frrafafaa e 1 ufde ofk uy & I S|

ol R SGMHAEH 31 &a| < {6 1876 & Iwd d R & wfd 3U@! [ $ SR YR IHT & J@fis Fde ugd
1 4T, Y 1882 H MR B -1 il BRI A 59 YR W 34+ U W& I & &Y H gral {61 il HRd TWROR
39 Q9 @ dabTd Ws o, fiaa o 9iR 39% IRT 3R fdd ©4 wfea syFe! 4 f&ar iR 98 i iR ¥ 79 wifig
Yolle=e 9 d GRaR W FEF0 6 9T 3R A g f6fewr YRd™ GRaR g-o1 9T AFR & $H2id Thdhd W HEF0 6 91|

Iy 1885 B Uolog dme o Hi IR UfHH dHid &7 31 Q&M 3 UG TaY B 1 Aaxgdbdl & gay H fafew ¥ & faar &=
&fsd o o Gerdl el | 31a: T8 dad T4 el o1 i a9 1885 H &l Wioll (=M Ud d-d dRale [8ge] ®el AR orikd
HI% 351 & g H Ficiiie qur A gid gu [6g B & qléi o Y &1 Gdaiur - 0yl gaRT -1 dicsa ol Uik &1 iR
S UfeRIT o Higed § Hd&Ur B @ foie 1ol T 41 341 i JFRIadits! @S @l Fafie 9y Ed 9e 96 9H & dey
H &1 giAfd @ Rawial @ SwiA A siHifGd faan 411 93 HHiSR - 31 - ik, Wh Iy - 9 i g 61 & g+ fama aun
e & 9RI SR Y S/ R AoHiad a0 &A1 81T difds GRT &3 gR1 foid dd @1 Ugd ayl ae- gRT Fidfie 9 i

Ugd GiHiEd &1 o 9 |




Arrange the following events in correct chronological order:
A. Afghans claiming Chitral as its protected state

B. Panjdeh Crisis

C. Allegiance of Chitral to Kashmir

Choose the correct answer from the options given below:

1.A B C
2.B,CA
3.CAB
4.C, B A

1)
(2)
(3)
(4)

A W N =

frafdRad TeTrst B! el BIahHTHR adiyd Biford
A. SBIT-RAH B e W U s & w0 J gl
B. Ulsg Hae

C. HIHR & Uil fepra @t (@1

i<l few e fadeal # 9 9l SR 94 -

1.A B C
2.B,C A
3.CAB
4.C, B A

1)
(2)
(3)
(4)

A W N R

1[Option ID=27097] Question Description : dwbv_pg_gp20_eng_2_q50
2[Option ID=27098]
3[Option ID=27099]
4[Option ID=27100]

Paper II : 6-History

Sl. No.1
QBID:6001

Alara, the great teacher of the Buddha belonged to which tribe?

1. Bhagga of Sumsumaragiri
2. Kalamas of Kesaputta

3. Mallas of Pava

4. Mallas of Kusinara

1) 1
) 2
(3) 3




